\.

=7 AHA 7F AHA

BE | BB | my | ®mE | ast fg(j;* BE | =B | 8y | =B | as *5(5;;*
0

[T =1 100 100 100 300 i = 100 100 100 300

2012¢E| 65.0 | 56.0 | 62.0 | 183.0 61.0 2012¢E| 65.0 | 56.0 | 62.0 | 183.0 61.0

20114E| 64.0 | 59.0 | 57.0 | 180.0 60.0 20114E| 67.0 | 48.0 | 57.0 | 172.0 57.3

20105E| 62.0 | 48.0 | 53.0 | 163.0 54.3 2010%E| 64.0 | 41.0 | 52.0 | 157.0 52.3

2009%E| 63.0 | 54.0 | 62.0 | 179.0 59.7 2009%E| 64.0 | 46.0 | 67.0 | 177.0 59.0

*1 23245 F, *12[F 25T,

BF qF

BME | EE | 8y xE | o | |FRE| |8 =2E | 8y | =E | o | |BRE
(%) (%)

[T = 100 100 100 300 (it =) 100 100 100 300

2012¢¢| 58.0 | 61.9 | 67.6 | 187.5 62.5 2012% | 58.7 | 54.7 | 65.1 | 178.5 59.5

20114E| 60.7 | 58.1 | 73.8 | 192.6 64.2 20114E| 62.4 | 52.3 | 74.2 | 188.9 63.0

20105 | 52.3 | 35.5 | 65.6 | 153.4 51.1 2010 | 54.9 | 28.9 | 66.6 | 150.4 50.1

20095 | 48.2 | 70.4 | 64.5 | 183.1 61.0 20095F | 48.1 62.4 | 63.0 | 173.5 57.8

BF E3 ®F E3

BE | @S | 8% | ®E | at f%(g-‘/-i;* BME | @S | 8% | @mE | a f%(g-ji;*
0 0

[T =1 100 100 100 300 [T 100 100 100 300

2012¢E| 59.0 | 53.4 | 56.1 | 168.5 56.2 2012¢E| 60.2 | 48.5 | 54.9 | 163.6 54.5

20114E| 64.5 | 56.0 | 67.8 | 188.3 62.8 20114E| 65.1 44.7 | 67.9 | 177.7 59.2

20104E| 60.8 | 58.4 | 57.0 | 176.2 58.7 20104E| 64.0 | 51.8 | 57.3 | 173.1 57.7

20094E | 66.1 59.4 | 59.1 | 184.6 61.5 20094E | 68.2 51.3 | 56.9 | 176.4 58.8

BF "F

BE | ESE |8y | mE | o | |FRR| | wB  =3E | 8y | mE | o | |BRE
(%) (%)

[T 100 100 100 300 [T 100 100 100 300

2012¢E| 60.6 | 68.6 | 48.8 | 178.0 59.3 2012¢E| 63.2 | 62.3 | 48.3 | 173.8 57.9

20115 | 53.4 | 58.8 | 78.8 | 191.0 63.7 20114E| 58.2 | 54.1 | 80.4 | 192.7 64.2

2010%E| 67.4 | 48.7 | 59.7 | 175.8 58.6 2010E | 71.1 43.3 | 60.6 | 175.0 58.3

20094E | 60.8 60.1 | 64.4 | 185.3 61.8 20094E | 60.8 60.1 | 64.4 | 185.3 61.8

*091F 24T, *091F 2151,






